IECSRGBuUS8 triangle lightnessT*
T* YocmL*w - nc=100,
T*IEcsraBus=50 (V/Yo) 1 6(Y,=18, Y, /100<Y<=Y,0)
T*n(8,6)=18,T*,(18)=50,T*\y(90)=137

T*=136,71y=1,6, 1§=1/1,6=0,62
*1650,0Q $=50,00 D,=—0,00
T+3,=18,24,1%,=50,00 Y=18

10g[T*/T* ]=0, m,=0,62

1
\Y,=18
Y=

Yn=3.6

IECSRGBu8

tristimulus value difference
Yoc=L*w - nc=100,
T*|EcsroBus=50 (YY) M1 6(Y,=18, Y, /100<Y<=Y,0)
log(dY) = (1/1,6) log[1,6¢,/50)] + [1-(1/1,6)] logY)

Iog(AY)
AY

%250 dY;=3.20 dY/Y,=01777 . = -

dYo0=5,85,y=1.%, 14=1/1,6=0,69
dY,5=3.2 0
dYa,6=1,74 Y,

log (AY/Y) IECSRGBU8
tristimulus value sensitivity

SOV Yoc=L*w - nc=100,
T*IEcsroBus=50 (YY) M1 6(Y,=18, Y, /100<Y<=Y,0)
log(@Y/Y)= log[L,6(,/50)] - (1/1,6) log¥/Y,)

= (1/1,6) log[1,6¢,/50)] - (1/1,6) logl)

application
N range
+=50, Y,=3,20 dV/Yy=0.17 17 1 S
(dv/v),o_o 0650,y=1,6, 1§=1/1,8=0,07 0
(dY/Y)g=0.1777 §,=50,00 D,=-b,00
(dY/Y},60,4850 Y,=18, dY=3, 2
Y =18

1 YW—QO

Yn=3.6

log (Y/AY) IECSRGBU8
tristimulus value contrast

C=(VinY) e e o
T*IEcsraBus=50 (V/Yy) M1 6(Y,=18, Y, /100<Y<=Y,0)
log(Y/dY)= — log[1,6(/,/50)] + (1/1,6) log¥/Y,)
= - (1/1,6) log[1,6¢,/50)] + (1/1,6)Jog¥)
%

*,=50, dY,=3,20 Y,/dY,=5

.

(Y/dY)yo=15,38,y=1,6, 1=1/1,60,62

(Y/dY)¢=5,62 $=50,00 D,==0,§0 application

(Y/dY} 2,06 Y,=18, dY=3,20 range
1Y,=18

“Yw=90

Yn=3.6

IECSRGBUS relative triangle lightnessT*/T*,,

TEIT
Y=l W 6 2ne=100]

T,
T* EcsraBus=50 (Y/Y,) M 6(Y,=18, Y, /100<Y<=Y,o)
T*n(3,6)=18,T*,(18)=50,T*,(90)=137

application
f range
1y,=18
Yy =90

Yn=3.6

IECSRGBuUS relative

tristimulus value difference
YocmL*w  nc=100,

T* EcsraBus=50 (YY) M18(Y,=18, Y, /100<Y<=Y,o)
log(dY/dY,) = [1-(1/1,6)] loglf/Y,)

log (A YIAY,)
AYIAY,

4 -0,00
dYs ddY,=0,54 Y,=18, mg 320

*,=50, dY,=3,2Q dY,/Y,=0, 1777
~»

log[(dY)(dY),]=0, m;=0,3Z = 1
- 1 application
1 range
1y,=18

Yy=90

dYgo/dY,=1,82,y=1,6, 1{/’1/16 0,62
Y19/dY,=1,00 §,=50,

Yn=3.6
log [(AY/Y) I (AYIY)] IECSRGBUS relative
_ tistimulus value sensitivity
SSu=@YMIBYN)y . =\, - =100,
T* EcsraBus=50 (Y/Y,) M E(Y,=18, Y, /100<Y<=Y, o)
log[(dY/M(dY/Y),] = - (1/1,6) log¥/Y,,)

(leYb(/(dY/YL =0,36,y=1,6, 14=1/1,6=0,62
(dY/Y35/(dY!Y,=2.0Q §=50,00 D;=-0,00
(dYIY} g(AY/Y§=c, o3 Yz 1& = 3zoapp“ca[ion

logl(@YIYY@YIYL=0, m=-062 T “a _
*,=50, dY,=3,20 dY,/Y,=0,1777 }

1y,=18
=Clp log

Yn=3.6
log [(Y/AY) I (YIAY),] IECSRGBUS relative
tistimulus value contrast
CrlCru=(YIB(YIAY)y Y 21y =100,

T* EcsraBus=50 (Y/Y) M8(Y,=18, Y, /100<Y<=Y,o)
logI(Y/dY)/(Y/dY),] = (1/1,6) loglY/Y,)

(YIdY)yo/(Y/dY)=2,73,y=1,6, 14=1/1,6=0,62
(Y/dY)g/(Y/dY)=1,00 §=50,0Q D,=—0,00
(YIdY} f(Y/dY)=0,36 Y,=18, dY=3,20
log[(Y/dYY(Y/dY),]=0, m,=0,62
T*,=50, dY,=3,20 Y,/dY,~*
o 1 application
- 1 range
o 1y,=18
Yn=3.6  Yw=90

-
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